Results of the Team Matches

A. S. A. vS. MORGAN PARK.

Lucius won from Weldon, 6—2, 6—1.
Lepman won from Tracey, 6—1, 6—2.
Wilkins won from Dawson, 6 -3, 57, 6—4.
Cathrae lost to Lyon, 3—6, 4 6.

B i P VS DR

Lucius won from Pherry, 6—1, 8—6.
Lepman won from Cobell, 6—1, 6 2.
Wilkins won from Bissell, 60, 5—3.
Cathrae won from Leslie, 6—4, 6—1.
Henry won from Thompson, 6—1, 6—0.

A, S5oA. VS, IS H. .

Lucius won from Stein, 6—2, 6 —4.
Lepman won from Johnson, 64, 6—1.
Cathrae lost to Shorts, 3—6, 7—5, 3— 6.
Wilkins won match by default.

136



